ERER 20224 (£F14 %) ~20244 (HH16 %) F4
Fx-BE AREEFR ey £ 3 EER EEE FoRy FoAy (F5NAES F5NAZES
—————————— &g EBD- |-—————<& - | HE: - < E - |——AHE: - | <E - |———<BE: - | E - |——<FE: -

JEESES] 108,578 £E 72428 |&E 154,856 |&[F 22256 |£E 56,055 |&E 2993 | 2HF 16,400 |&H 1,927 |2E 2,590
1 #i|am 128,044 |REENXER 89,040 |[¥riATH 185,631 |HREAXE 27,741 |®#@ATH 66,760 |RI&TH 3539 |[ERBEW™ 20,893 |#@ATH 3,131 |#xMATH 4,047
2 RTEERXER| 128,002 |#iBTH 88,659 |HHAERTH 182,388 |fAET 27,705 |#EERTH 65,790 |#NITH 3534 |RE™ 20,229 |LfgTh 2,905 |Lfzth 3,820
3| RART 125,687 |#&ETH 87245 |FEm 176,501 |UFzTh 26,989 |LufzTh 64,997 |EGTH 3515 |fAETH 18,873 |BEET™ 2,670 |BEfTH 3,660
4\ ¥E™H 125196 |&LVf=FThH 84,665 |fFAHETH 175548 |#&ETH 26,853 |RE#NXER| 63,560 FAHETH 3443 |IxEBT™H 18,187 |ELUm 2,647 |EWuth 3,608
5 FETH 123432 |fAET 83,751 |&LMf=Fm | 174401 &R 25,898 |FH#&RTH 62912 | BH&HFH 3,443 |Mth 18,009 |FR#RTH 2435 |HERTH 3,447
6 =Lt 123,352 | tH#E[ETH 83,692 |HREANXER| 174,138 |+HHE[RETH 25,756 |FBTH 62,460 |E[tH 3413 |BHET 17941 |&F&HEH 2428 |HEERETH 3,328
7/&0V=FH | 123274 |FHET 83,620 |#ETh 173,891 |&F#&Fm 25376 |#EETh 62,022 |;E¥ATH 3,394 |;E¥aTh 17,890 =R 2373 &t 3,291
8/ lLUfizTh 122,701 |JII&T 81,660 |FH&RTH 171,133 |JIli&TH 25190 |EHH 61,454 |HH{EET 3,349 |fH¥EET 17,822 |#B¥E[R™ 2,365 |&iR™H 3,176
9 fEIERET 120,826 |FIETH 81542 |lufzTh 169,843 |$iBam 25079 |FEMH 61,412 ERET 3,293 |Ri#BTH 17,704 | &R 2357 | B&HFH 3,145
10|J1| i v 119,927 |ELUT 81,047 L&TH 167,971 |88 25043 Ml&T™H 60,745 {2ETH 3,250 |FiET 17,440 $hiath 2,356 |l 3,047
11FEH 119,873 |#Fm™ 79671 | R¥H 165,696 | ALIRTH 24926 |SULM=FT 60,455 |FhiEth 3239 |#MTTh 17,419 |f8Hth 2,345 |FEM™ 3,018
12| &R H 118,186 |&REmH 79,600 |BEHET 163,652 |=LVi=FTh 24889 |EE[TH 60,447 |)IlI&TH 3,225 |REKRTH 17,407 |ALIRTH 2,318 |#FiBm 3,017
135%™ 118,162 |lLUfizTh 79,205 |JI|I&GTH 163,608 |{l& 24,757 | BE&HF™ 59,629 |EX[ETH 3224 |#ETh 17,404 MbET 2,307 | K:ETH 3,004
14/{lEH 117,275 |25 E™H 78,356 | BX[ETH 163,587 #pPTth 24,751 | )&t 59,544 |HIRHRXER 3221 [kt 17,135 |FREEABXER 2254 |BEEM™ 2,997
15| fF 116512 &t 77,009 |FEm@E™H 163,164 |BERE™ 24588 |ELUTH 59416 |fRfE™H 3218 |F#RTh 17,128 |#ETH 2242 |t&ETH 2,984
16 @™ 115871 | £ERth 76571 |IKETH 163,144 |E1UmH 24568 |IEETH 59,321 |#&ETH 3215 |Ei&mH 17,076 |FEHh 2228 =BT 2,956
17 EBH 115,767 | KR 75,402 |;E¥ATH 162,432 | FEH 24410 |F&M@t™H 59,268 |#L1RTH 3208 |HER#HRRXER 17,027 |KiETH 2,224 |HitETH 2,948
18 ZHEM 114,325 | KiETH 75,273 |HiItBT™H 161,954 |f@&th 24,309 | XFrth 59,099 |[@LtH 3,190 |EFRMTH 17,004 |IEETH 2,186 |JIliEH 2,943
19 FHM 114122 |;EMATH 75,158 | KB 161,922 |£R™ 24178 |$8B™H 58,835 |REATH 3,180 |JIlivh 16,943 |JII&TH 2,178 |&LV=FETH 2,934

20 KRB 113,955 |&iRH 74727 | KETH 161,545 |2 E™ 23898 |AEHEM™ 58,708 |[LB&TH 3179 |[LB™™ 16,937 |iRth 2,145 |f&8FHTH 2,869

21|\ KiEHh 112,873 | &F&H™ 74336 |=BTH 161,049 | KPRt 23611 [;E#ATH 58,223 AW EM 3,172 |EEMTH 16,913 |&%REmH 2125 |HEHXER 2,864

22| &R 112,176 |B%RETH 74178 | RIGH 160,900 &Rt 23326 |&th 58,201 |&E4%0th 3,168 | K;EM™ 16,864 AHEM 2094 ¥ TITh 2,863

23| ;& 111,240 |EFH 73,985 |E LU 160,635 | K& 23,020 |XK:#E™H 57,931 |#FETH 3,160 |#WpET™H 16,783 | \f=FEmH 2,087 |E&[th 2,861

24| KBrth 110546 | dtAuimth 73525 |fHETH 160,457 |;E#ATH 22,735 |fHET™H 57,489 |BHwh 3,130 |FEMH 16,753 |f2@&th 2079 |i3fmh 2,858

25|FE = 110,293 |f8B&T 73,497 |FHET 160,049 |E¥FmH 22445 =BT 57,016 |dbfuth 3,129 |$EE™H 16,665 |[#FTH 2031 |[fgE™ 2,820

26 3R 109,733 3R 73414 |BHHT 159,235 3R 22434 |¥ITH 56,696 |{EET™ 3088 |EWm 16,596 |ERfFTH 1,998 EFm 2,801

27| B 108,278 |FHAE ™ 73,005 |3Rth 158,517 |#MIth 22,061 |Rit&™H 56,555 |EIUTH 3,068 |Ei&mH 16,585 |;E#ATH 1,982 | KPR 2,728

28 | HitE™ 108,028 |IxETH 72537 |ERET™ 158,296 |IEET 22040 ERBW™ 56,521 | K&Hth 3,050 |f&fTH 16,494 | KPRt 1,958 |#LiETH 2,650

29 L A 107,309 | ALRH 72,087 |REARTH 157,402 |dtAhMTh 21,961 |BEH 56,081 | REFmh 3,035 |Wufzth 16,493 | ITh 1,954 |fAF ™ 2,602

30 B pFTh 106,399 |EI&TH 71,050 |dbAumth 155,671 |[G&TH 21916 |F#E™ 55,950 |#¥AUTH 3,031 ||t 16,339 |EHH 1,937 | 2,598

31| RIGH 106,214 |HifE™ 70,687 |¥AITH 154,843 |EfFH 21,791 |&iR™ 55,785 |RE#&RTH 3028 |&E&HFH 16,338 |HiET™ 1,931 |FHET 2,548

32|t@H™H 106,030 |EHfFH 70540 |f2E™H 154,383 |FHFETH 21,765 |[LB&T™H 54,964 |K:Eth 2999 |JKETH 16,277 |BRF;™H 1,871 |BEmH 2,546

33| ALIETH 105,586 |f2RmH 69,940 |#L1RTH 151517 |BEETH 21,723 |BFH 54313 |FEH 2,968 | KBt 16,228 | REf™ 1,865 |/KFPET 2,530

34 ¥Th 103,768 |BRE;T™ 68,879 |€RH 151,235 |BRE;RTH 21,189 |#Lt®Evh 54297 |[=RBTH 2956 |&ULV=ET 16,226 | Sth 1,766 |fEET™ 2,516

35| f&f 102,860 |#¥MITh 68,705 |FFFTH 150,376 |f2RE™H 20815 |Ri&mH 54,098 {i&TH 2952 | K&Hth 16,219 |FHETH 1,749 |{&EmH 2,460

36|KF T 102,493 |[LE&TH 66,859 |{ERET™H 148,262 | RI&TH 20,753 |db AT 53,340 |HFFTH 2913 |BfFH 16,148 |RELUT™H 1,748 |BRZE@™H 2,443

37|33 100,109 |#2H T 66,630 |[LETH 146,948 |RELLT™ 20,668 |[ELLUTH 52916 |SL\=FmM 2,878 |*#LiEvh 15,981 |FnFrLth 1,740 E#AT 2,419

38| REARTH 99,123 |REARTH 65,480 |/KETH 146,050 |40t 20,657 |JKET 52,788 |F&#RETH 2862 |BETH 15,832 | =40H 1,735 |f0grlut 2,404

9 EET 98,363 | =G 65,218 |=IGTH 144199 |f8HTH 19,989 |REARTH 51,896 |LUfzThH 2825 =B 15705 |[G&T 1,729 |[EB&T™ 2,364

40| [EE™ 98,085 |[UTH 65214 |{E&H 144106 EERE™ 19,846 |F0FrUT™ 51,600 |FRERTH 2824 & 15,697 |[{&&m™ 1,687 &40 2,305

41 BERET 97247 |BETH 65,154 |BHEH 143,087 |E&tH 19,829 |f2f@mH 50,996 |lLOTH 2821 |{EEB™ 15,648 |/KF™ 1,644 |ELUTH 2,157

42 fEETh 97,141 |J)KETH 64,881 |REILUTH 142,733 |Hi{E™ 19,799 | K4 50,810 |IKETH 2,799 |fEET™ 15,647 |LLAT 1,642 S 2,157

43| = FTH 97021 ERE™T™ 64,560 | Ko TH 142,095 |#AUm 19,560 |[;&Th 50,810 |&iRth 2,772 |FHEETTH 15605 |faET™ 1,608 |dLhimth 2,108

44 ERTH 96,833 |#AlTh 63,869 |;ETHh 141123 |luATH 19,439 |El&mH 50531 |fEET 2,766 ;&M 15,554 |de At 1,581 ¥ 2,102

45 [T 95920 |fEETH 63,698 |fEET 140,423 |BEAT 19,352 | & 50,304 | KFxth 2,736 |(luOTH 15,282 | #AUth 1549 ERB™ 2,098

46 ;ETH 95,687 |;&Th 62,786 |F1FxILTH 140,148 |fEETH 19,224 |{&&t™ 49816 |Hit&™H 2,585 |FNFrLTH 15,184 |Ri&mH 1516 | R 2,012

47\luavh 94992 |{£EBTH 62,783 |#AUTH 138,776 |JKPETH 19,132 |fEET™ 49645 |faFTH 2573 |Eh 15,163 ;& 1,480 |;Em 2,000

48| Kpth 94,636 | K&HTH 62271 |S¥TH 133,840 | KHth 19,120 |[luAT 48,629 ¥ 2,555 |#alumh 14817 |=Ei&mH 1474 |Bi&TH 1,970

49 #ALlUTH 93,999 |lLOTH 61,888 |lLOTH 132,045 |&#T 19014 |#AlUT 47901 |JKET 2553 |&iRT 14,765 |f2fm™H 1,472 {2 1,958

50 F1FR LT 92,402 | Ei0th 61,641 |=x0th 130,905 |#0FriLTh 19,006 |E%1th 47637 Bt 2544 |EETH 14374 |ERET™ 1,404 LA 1,956

51 & 92,311 | F0FrLh 60,694 |fEHFTH 129,988 |iETH 18,601 |f@HmH 46,433 |;Em 2522 |f@FH™ 13,688 |BEAT 1,326 |BEAT 1,832

52| & %nth 91,226 |&¥Th 59,458 |FRE;ETH 128586 |{£&T 18,588 |BERZET™ 42,670 |\FOFRTH 2329 |FEF;E™H 12,071 | Kpth 1,255 | K& 1,798
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—————————— <& BB- |——<HE: - | HKE - | —HE: - | <& - | HEE - | E B | ——<H}E: - | <E B>
ESES 1,339 |£H 7911 |2F 3,365 |£E 4,454 |2[F 2591 |2F 5737 |&F 2457 |&F 4614 |£H 994
1| K 1,832 =& 10,784 |8 4,400 |EREEHBXER 5884 |REARXER 3,383 | tHHEERETH 7,469 |ELV=FTH 3224 |fHFERETH 6,165 |HHM 1,459
238 1,811 | 10,758 |FREABXER 4255 |BE[ETH 5809 |fH{E/ETH 3,196 |HEERXER 7264 |#EETH 3174 |&LV=FmW 5849 |lUfzth 1,362
3| RART 1,772 | KZE™H 10,330 |ZE#&RTH 4223 |EFHFT 5714 |F#[mH 3,192 |#ETh 7,166 |t 3172 |#FhiBT™H 5841 |BEwH 1,333
4 =B 1,703 [#FT 9985 | AHEM 4,070 |tB¥ERETH 5,690 |t&EETH 3,155 |ELVi=FmH 7,099 |EE[ET™H 3,149 |#&ETH 5784 |FXETH 1,315
5/ FTH 1,696 | F1FxLTH 9,932 |Xxth 3996 |FEm 5,665 |1l 2995 |FEMH 7,004 | FEIEETH 3,130 |Wufzth 5,705 |EKi&t 1,305
6/ fEET 1,638 | KPR 9,803 |f&ETH 3981 AT 5621 |FEH 2915 &M 6,855 |E&HFM 3071 | HEEARXER 5581 |B&ME™H 1,290
AEE I 1,615 fEEM 9501 |fHFT™H 3,953 |HETh 5510 |ARER™H 2,889 |HFFTH 6,712 |FkEATH 3070 |[&F&HFH 5579 |FRERTH 1,287
8| KiEMh 1573 &R 9,343 |JIlisTh 3,903 |JIligTh 5423 |FH#&RTH 2,874 HitBTH 6,449 |ELUTH 3013 & 5,508 |#NiIth 1,224
9= 1,535 |EWT 9,220 [|;E¥ATH 3,853 |lUFzTh 5408 |BRFFTH 2,863 |JIIIGTH 6,323 |FRFEARXER 2,993 |FkETH 5504 |EERBET 1,219
10| = & 1,535 |EUTH 8,988 |=L\f=Fmh 3811 (&t 5353 |;EfaTh 2860 |FEETH 6,247 (=BT 2,963 |FH&RTH 5496 |FriET™ 1,217
1| B 1,533 | #H¥E[RETH 8,725 |fH¥ERTH 3,806 |EL\f=FTH 5262 |SL\i=FmH 2,857 [E#TH 6,100 |LLfzh 2,927 |EE[th 5392 |{EET™H 1,216
12|21t 1517 | E&H 8,607 |XK:ET 3,755 |#FiET 5202 |FHETT 2829 |IKETH 6,096 |FRFmETH 2919 | =B 5361 |{EB&T™ 1,197
13| & 1,494 AHEM™ 8485 |FEM™ 3,754 |E%[A™H 5143 |&E&H#H 2779 | EHtH 5920 |&iRH 2,898 )l 5299 |REARTH 1,187
14 #8TH 1,488 |dt AT 8422 |IKEETH 3,704 |ZHET 5062 |fHFETH 2,733 | BHF™ 5884 |fB@E™H 2,858 |HiItE™ 5281 [l&TH 1,185
158 H 1,483 |RI&H 8,403 |[LB™ 3634 |IEETH 5028 |&EHET™ 2,727 | KBrth 5,759 |EE[TH 2841 |E8[E™H 5263 |dtioNTh 1,140
16| #L1R T 1,479 |BEH 8,364 |#NiITh 3594 |FHEET 4906 |¥Rth 2703 ZEHET 5,753 |JIII&TH 2841 |&iRth 5228 | KBxth 1,095
17|%&RH 1468 |{E&m™ 8,305 ¥t 3,593 |#LiRTH 4852 |[E=BW™ 2,699 | XK:ETH 5625 |E&RTH 2,787 |BEH 5192 |[EuH 1,086
18| RI&GH 1460 |FEm 8274 =BT 3552 |;E¥ATH 4816 | KBt 2,697 3Rt 5601 |[{i&E™™ 2,786 |IEETH 5188 | K%t 1,068
19/ dt AL 1,460 BT 8,258 |dbAdMTh 3528 |H&RTH 4,716 |fAET 2,652 |FE;ET™ 5516 | R¥Fh 2,763 |BHEM 5149 |HFEEXER 1,058
20|[EET 1451 EEREBE™W 8,249 Uz 3520 |&iRt 4680 |[ERBM™ 2612 |#ETH 5485 |*LiETh 2,744 |EUTH 5129 |fEETH 1,053
21| ¥Aluth 1,449 | HREHEBXER 8238 |&H#HM 3490 [fBBTh 4,650 |dLAoNTH 2567 |BEARTH 5483 |FH#RETH 2697 RET 4,984 |#MUTh 1,048
22 ;EMATH 1,448 | Kot 8,231 |&iRth 3482 |JKET 4562 |KiEM 2565 =BT 5478 |FEmH 2594 ¥ ITH 4,868 |f&ffmh 1,045
23/ luah 1,438 |t 8,193 |EWUm 3,468 |ELUTh 4514 |EUmH 2546 |[ERET™ 5471 |AEHET™ 2583 |fEE™ 4868 |&iRth 1,024
24\ FETH 1432 | FMEtH 8,143 |#hiBm™ 3419 HFFTH 4,443 |IUfzth 2500 |JKETH 5466 |EENH 2575 |FEMWH 4845 |fLiEmH 1,014
25| [ 1420 |IEETH 8,137 |®#xMATH 3,368 |HiitETH 4427 |*LiEvH 2,493 |R&ERTH 5443 |dL AT 2536 |FEET 4842 |EHT™ 1,001
26 BHET 1,377 |#LiETH 8,076 |#LiEvh 3,367 |#¥iITh 4425 |EiI&TH 2490 |Eumh 5349 |IEETH 2516 | KBt 4787 |lu@Ow 999
27| R AR X &R 1,363 LA 7,983 |luOth 3,349 | KRth 4287 |&%ItH 2,467 |Wufzth 5346 |FRFTH 2511 KB 4,742 |&MET™H 998
28 | #rimah 1,360 E¥m 7,920 |RELTH 3,348 |MFTH 4273 |IEBETH 2,466 |FriET™H 5182 |[LB™ 2503 |[LET™ 4741 |FEET 997
29 | F¥ETH 1,350 |#&ETH 7892 |ETH 3265 |[LETH 4265 |EIETH 2,462 |\ FOFxLTH 5123 |f#FTH 2,458 |#LiRTH 4666 |[RBTH 993
30|#B4E R TH 1,345 #¥AITH 7,880 |EE[ETH 3254 |BEuth 4219 |BEH 2,460 | K&HtH 5066 |XK:iEMH 2,447 |dbAhTh 4661 |EiIFTH 988
31 fEET 1,343  #Uth 7,862 |F0FLThH 3216 | KT 4121 |¥MITH 2414 ;& 5046 |JKETH 2417 | KiETH 4,660 |HEETH 986
32| FEH 1,340 | S5 7,707 | FFTH 3214 3 3,998 |#lmh 2412 |®#HETH 5029 |E¥ATH 2413 |f#FTH 4637 |ELUT 977
33| Kpmh 1,335 |f&MmHh 7694 |EHth 3,187 K™ 3980 |[lLUOTh 2,403 |EHH 4988 |KBrth 2,362 |iRth 4621 |[MFET™ 970
34 |1EETH 1,322 (&R 7,668 |{lETH 3,106 |[Z=BEm™ 3970 |K&HtH 2,391 | RIGH 4980 |3Rth 2,321 |;E¥ATH 4524 FHFERETH 962
B LET 1,317 |EmH 7,667 |fBMET™ 3078 |;ETH 3,858 |#hiaTh 2391 |[LE™ 4977 |f@FH™ 2,319 |HFFH 4469 |SULN=FETH 957
36 | &R 1,307 | #¥iEm™ 7641 |fE2ET™H 3018 |[ERET™ 3,700 |f&[™H 2,374 | #L1RTH 4957 |[EUTH 2,305 |BEATH 4338 |)lli&TH 955
37/t 1,305 [fliET 7626 |{EE™H 2,982 \FOFrTH 3,663 |&R™ 2,374 ¥t 4941 |RI&m™H 2281 | RIG™H 4229 |EWT 950
38| BHHEM 1,284 &t 1586 |fEET 2,951 At hh 3,631 |HitE™ 2371 | Bt 4903 |¥NTITH 2,231 |Fngruth 4216 |IKET 948
V| ERET 1,280 | )l 7556 |EI&TH 2948 | K&Hth 3627 |[LB™ 2,364 |Ei&ET™H 4899 |fE[TH 2,230 |FEFmET 4172 |FH#E™ 944
40| I BT 1279 8B 7521 | K&HH 2,946 |f@FTH 3599 & 2,356 et 4,897 |BEARTH 2216 ERBETTH 4158 iR 936
41 |f8HH 1,243 | &SLV=FETH 7,363 |#AUTH 2,943 |[EUTH 3585 |fBE™ 2,345 | &Rt 4,883 |RiItE™H 2216 |[ELTH 4146 | KiZETW 934
42| R R TH 1,234 FXHT 7,295 |Siath 2918 |REARTH 3462 |JKET™ 2,316 |{ER™™H 4860 |E%1Th 2,181 |{Ef™H 4143 | FEw 926
43 | BE[E ™ 1,230 | HEARTH 7131 |B&th 2885 |lLAThH 3,427 |EEMth 2,301 [{l&th 4831 |EiFmH 2,151 |f@Hm™H 4085 AoEM 909
4| REH 1,228 |[&H&HF™ 7009 |FEET 2881 |[{EET™ 3,348 |fEET™ 2,280 | TTH 4,818 |F0FrLTH 2117 |&mh 4005 |ERRFTH 905
45 1,212 |JkKFET™ 6,953 |[fBFTH 2871 fEBETH 3,323 |fnFruth 2,259 luOTh 4,787 |ERE™ 2099 fEETH 3,947 |fnFrlth 903
46| =LV =FETH 1,190 FfFm 6,875 |RI&TH 2,859 |#AUTH 3,312 ;& 2233 |fEE™ 4,734 |t 2,005 |&%0th 3,900 |E#ath 900
47| B fFH 1,110 |HiE™ 6,849 |RI#BTH 2,836 |fER™TH 3,306 |REKRTH 2,224 [T 4713 |fEE™H 1,972 |E&H 3896 |f&FHTH 892
48 | AR ERTH 1,088 R 6,672 |JKE T 2,800 |EiFTH 3236 |EK¥m™ 2201 | E&0th 4,600 |#UTH 1,942 | Kot 3803 |[Z=EBEM™ 885
49| LUz h 1,078 |FHETH 6,600 |REATH 2,721 | &St 3,172 | 2,195 |BE[™H 4471 | K&Hth 1,898 |{E&ET™ 3,698 |i#Em 875
50 FEE T 1,010 |[LUFizth 5997 EREM™ 2,689 Ei&H 3,154 |E#th 2195 @B 4,436 |;Eth 1,888 |;Eth 3,680 |HitET™H 839
51 KBt 1,003 |f@Hm™H 5726 | RETH 2,556 | =&t 2841 |f@H™ 2170 [{&EETH 4,287 |lLOTHh 1,850 |# LT 3,657 |JKET™ 836
52 | BiItE™ 998 |FREmRTH 5079 |FEF;ET 2533 |FEF;mT 2367 |[{4EE™™ 2002 |f&HTH 3,774 |[4EE™ 1,841 lLAt™ 3344 | RE¥mh 825




ERER 20224 (£F14 %) ~20244 (HH16 %) F4
HL hDIEERE hnEERE icE icEa =DFEWE SDFENL Conirg Cehirg

———————— HFHE: g |————HKE Z- |———HE: - |- E - | HE: - | E - |——LHE: - | <& - |——<FE: -
ESES 6,018 |2[E 6,591 |2[F 7538 |2F 19,002 |£H 53,143 |&F 1253 |£H 2673 |2F 2724 |&2F 8,452
1Lz mh 8,924 |lLfsth 9,872 |lufzthH 11,693 |FRE&RTH 22569 |FhiET™H 63,470 |fEET 2314 |fEET™ 4,635 |FriBT™H 3,488 |#FiBT™ 10,594
2\ k@™ 8,661 |FkAT 9,294 |®kETH 10,318 |$iiBm 22,490 |fE{EETH 60,818 3Rt 1,699 | KiEMH 3573 |EEMm™H 3,454 |Faf™H 10,341
3| B[ 8597 |HRIEHXER 9214 & 9,876 |fEETH 22135 |FEHh 60,534 | K:Eh 1,681 ERBE™W™ 3,466 |;E¥ATH 3347 |BRE™ 10,139
4 F5HT 8,596 |t&ETH 8,779 | E¥ 9,835 HREHXER| 21,790 |H=ARTH 59,105 |H#RTH 1,613 |FHET™H 3456 |ELUTH 3,333 |t 9,980
5 #imm™ 8,509 |[{l&ETh 8,748 |HIEEHRXER 9,718 |F%[mh 21,386 |®kHET™ 58,948 |Z=RTH 1,602 & 3,433 Rt 3296 |EUmh 9,923
6/ 8B 7,771 #LiRH 8,302 |t2BTh 9,409 |Eluth 21273 |F#M@™H 58,177 |[EIRET™ 1593 |$am 3,342 |#ETH 3,292 |m#ETH 9,863
7bE™ 7484 {E2ETH 8219 |fAERE™H 9,355 |HHFERTH 21,234 | XKW 58,071 |ALWRH 1,504 |[h&E 3,305 |E#RTH 3,162 [;E#TH 9,804
8| BN 7,307 RE¥th 7971 |#&ETH 9222 |FEMWH 21,000 |[{i& 57917 #FTH 1,473 |BEART™ 3,268 |JIlUgTh 3,096 |HHHEET 9,749
9| Euh 6,859 |FriET 7924 | &LV =FETH 9,208 |3Rth 20,947 3Rt 57,808 |E Ut 1,443 |f2RT™H 3,134 |HHFEETH 3,060 |#EETH 9,743
10| R¥F 6,678 |=L\i=F 7,885 |FhiETh 9,021 |JIligTH 20942 |[Z=RBTh 57,757 | F0FxLH 1,438 | fB#R[RTH 3,130 |ERIEHXER 3,058 | KRrh 9,646
11| #L1RH 6,609 |JIlIETH 7,788 |FE#&RTH 8,898 |MFETH 20,880 |#&EETH 57,729 |{&[H 1,434 |[ER™ 3098 =Bt 3056 |ERBM™ 9,565
12| B IR #B X &R 6,569 |R&RTH 7,782 |#ETH 8,649 |ELV=FETH 20,793 |SULVE=FTH 57,390 | KBt 1411 |FEmH 3084 |FEM 3020 |FEMH 9,535
13| & 6,480 |MFETH 7,749 |FEWH 8558 |ERBT 20,741 |IEBETH 57,367 |#riEaTh 1,405 |ALIRTH 3,055 |dbATh 3,009 |#LtRtH 9,480
14 #8TH 6,447 |FETH 7,684 | KBt 8,489 | KBxth 20,133 |HE#XER| 57,343 |FRiET™H 1,381 |EH#T 3,049 |fAETH 3002 | HEFEARXER 9,450
15| R 6,435 |fRIE[RETH 7,602 |EUh 8,348 | KiET 20,126 |[EERB™W™ 57,135 |[EU™H 1,362 %R 3028 |&LV=FEMW 2996 |KZETH 9,327
16{&EE™ 6,164 |BERATH 7469 =BT 8,318 |UFth 20,120 |ufzvh 57,050 |&;Rth 1,361 | K9 2972 BAEHEM 2963 |BAEEM 9,308
17| Ri&™H 6,115 | H&HF™ 7421 |l TH 8,227 |dtth 20,033 | XFrth 56,588 |fHIERETH 1,346 |FAHET 2934 |fER™™H 2959 |METH 9,285
18|BiIAE™H 6,099 |EUth 7,332 |EE[TH 8083 AWmEM 19,879 |;E#ATH 56,430 i&Th 1,346 | F0grLm 2,931 | KFrth 2947 | Ei&tH 9,283
19| WL H 6,075 =Bt 7,048 |£&RtH 8,047 |;E¥ATH 19,878 |ALiRT 55,875 |FH#RE™ 1,346 | KPRt 2918 |IKETH 2944 |dbhNTH 9,046
20 fEHERET 5982 AEET 6,966 |HFHFH 7,954 #@ATH 19678 | 2HEM 55,848 | BEET 1,325 |EREHEBXER 2918 ERET 2943 |IEETH 9,013
21| KB 5938 |€iRtH 6,951 |F&#ET 7,930 |&RTH 19,659 |REARTH 55,530 |FkETH 1,314 |;E¥ATH 2847 |&iRth 2928 |&LV=FEM 8,898
22| FEH 5923 | KBxth 6,933 |IRth 7926 {L&ETH 19,483 |t A 55528 |k ETH 1,305 |@itE™ 2828 | RIBH 2892 =G 8,737
23| )115TH 5915 |F&#ETH 6,792 | ZEHET 7672 |IKETH 19,230 |E%RET™ 55,478 |HImERXER 1,304 |El&mH 2,794 |[LE™ 2891 |&iRt 8,668
24| 1R 5864 |E:RtH 6,725 |BRE;RTH 7652 R 18952 |#F ™ 54,926 |RI&TH 1,301 | B 2,791 |f8H#H 2,874 |#AluTH 8,648
25 ;R 5850 | KiEMH 6,522 |RifE™ 7,635 | #LiRH 18,921 |#¥iImh 54,622 |#¥AITH 1,295 Lzt 2,768 | KiETH 2,862 |JI&TH 8,608
26 | FFRE ™ 5836 |3Rth 6,369 |#L1RH 7616 | fERE™H 18904 |F&T 54,366 |{EFTH 1,290 |[#F ™ 2,692 |Ei&ETH 2,764 |[{iETH 8,595
27| &LV =FT 5810 |FHFFTH 6,277 |;E¥ATH 7,346 2B 18820 |ELUm 54,363 |dbAThH 1,288 | Ri&m 2672 [lETH 2,732 |[EBT™H 8,588
28| FE = 5802 |IKETH 6,142 |ERET 7,308 |BERETH 18,651 |R¥ ™ 53980 |FEH 1,287 |t#&ETH 2,666 | KHth 2,668 |FIFrLLTH 8,566
29| f@HH 5,765 |f&fmh 6,091 |[LBE™H 7,300 |FHET 18,582 |RI&™ 53,731 |EI&™H 1276 |Z2HE™M 2,650 |[Eth 2,666 |f&@fmH 8,457
|BHET 5752 |ILET™ 6,062 |JKETH 7,261 |ERRFTH 18,558 |FHfE=ET™ 53,698 |#E;ETH 1,248 |#3lUmh 2616 |{EE™ 2,657 |{&EE™H 8,413
31| Kpth 5621 |giitE™™H 6,023 |E¥RE™H 7,240 #\TITh 18,460 |JII&TH 53,611 |JIlI&H 1,228 |JKET 2,602 |#ITH 2,653 |#Ith 8,410
32/lLuath 5562 |dbAdNTh 6,021 |f&fEmH 71771 | RIGH 18451 |f2EmH 53,023 |;E#ATH 1,223 |ELUH 2,564 | #LiRtH 2,628 |BEARTH 8,347
B ERET 5559 |;EATH 5835 |[dbAMTh 7176 |&F&HH 18,393 |RitE™H 52504 | KHm 1,223 |E5H 2518 |EEAT 2623 |FAT 8,294
34| BEARTH 5466 |BRZERTH 5779 | K:iEh 7064 ERBETH 18,376 | iR 51,988 |Ri#B™H 1,220 |dEAiMma 2512 | FOFrLH 2,602 |HitETH 8,275
35 EBfFh 5454 |EX1th 5684 |¥NiITh 7,034 | FREFmTH 18,223 |{&&Em™ 51,630 |&#Th 1,193 | ¥ 2,483 |BfFTH 2592 | KHth 8,109
36/db A th 5374 |#Ith 5621 |IKETH 7006 |f2FTH 18,180 |t2f@TH 50,956 |[LE&TH 1,187 |[EET 2474 |#uth 2588 |fEET 7,988
37;EMH 5367 |f@FTh 5577 |REARTH 6,953 LB 17894 |JKFE™ 50,654 |LLfzTh 1,184 |&fTH 2,470 |BEtH 2579 |f@FtH 7,949
38K 5352 |BEuth 5568 |ERfFH 6,948 |{EE™™H 17,849 |BRfFTH 50,445 |EEH 1,178 |&F&H™ 2,461 |FREmE™ 2,556 |ERfFTH 7,887
39| KiEMH 5297 |JKETH 5563 |EHH 6577 |Ei&TH 17,791 |[LB™ 50,370 |;ETH 1,170 | 2424 |fEET 2540 |fEETH 7,839
40 St 5,270 |[Elth 5376 |&Ath 6,516 |HiI¥E™™H 17,754 | 50,072 |EX[EtH 1,167 |#AIT 2420 |fEE™ 2533 |BEH 7,838
A1 |EETH 5218 | Ei&t 5305 ;&M 6,285 |BEATH 17,680 |F0FrILTh 49941 BB 1,157 |FELtH 2,406 |BiItE™ 2524 |[EUTH 7,835
42| S5 5121 |BeKTH 5,263 |RELTH 6,250 |#AUTH 17,627 | KHpth 49717 ¥ uvh 1,150 |SLV=FEHh 2,384 |FkETH 2,466 |Siith 7,702
43[BT 5094 EREM 5249 |f@Hm™H 6,230 |fALLTH 17,334 |FELTH 49594 |BRFFTH 1,140 [ETH 2372 | Etth 2424 |JKETH 7,616
44 BT 5088 |Etath 5193 |XK&HtH 6,180 |fEET 17,286 |#ALUT 49554 |EH#HFH 1,125 |&R 2,360 |lLATh 2,423 |lU¥EtH 7,593
45| &[T 5,085 |#xlth 5186 |=x0th 6,160 | Kot 17135 |fEE™ 49,159 |BRZERTh 1,125 |HfFm 2,356 |FERETH 2,401 |[luOvh 7,560
46 =R™ 5036 | KHth 5178 |Ri&tH 6,152 |BEH 16,995 |El&mH 48,902 |REARTH 1,110 |JIi&vh 2,326 |IUfzth 2359 [HFHH 7,445
473 5022 &t 5126 |fEET™H 5,992 |FnFrITH 16,887 |EHWT™H 48491 |SULV=FTh 1,105 |f2Eth 2318 | E¥m™ 2,350 |;ETh 7,434
48 ¥t 4992 |(fEET™ 4,956 |#aluTh 5950 |;ETh 16,877 &t 47167 | EFm™ 1,101 |BEd 2278 |;E™ 2344 |FHEETH 7,374
49 | F0FxILTH 4852 |luOw 4,937 |F1FRITH 5900 |[lLuOTh 16,721 |[luAw 46,556 |fBBT 1,048 |f@HTH 2247 |BHH 2317 | EFm™ 7,178
50| B & Th 4,681 | F0Fxlth 4826 |=El&tH 5805 KA 16,691 |#8FH™H 44882 |\Ex0Th 1,003 [{E&mH 2213 KB 2,297 |BERTH 6,777
51| TH 4506 |EiFTH 4,757 luOth 5732 |Etth 16,209 |HBZE;mh 44354 |luOW 1,001 | BBF;™ 2095 |&S%0th 2220 |E&1th 6,600
52| ARE@TH 3683 |[{EET 4290 A& 5369 |EZ%0th 14841 |50 43398 [JKEM™ 906 (LAt 1,874 |BERE™H 2,146 |BRZEETH 6,351
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—————————— & BBD- |————HE: - | - | HE: - | - | ———HHE - | F - |——<FE: - |’ -
0 £H 744 £H 1,241 | £EF 1675 | £H 10,220 2H 2590 |2HF 7613 | 2F 963 |=H 1,322 |2EF 4197
1Lz mh 1,946 |ILfzTh 2,335 |m&RTH 2,073 |EEMtH 13,771 |BRZETH 3,886 |FEF;ET™ 9,312 |dtAMmth 1,245 |BERET™ 1,884 |FH#&RT 5,041
21f8HT 1,463 |BEAT 2,121 |HEEHARXER 2,048 |[{li&E 12,714 |SLWN=FH 3,101 |&LV=FmM 9,203 |FkHETH 1,202 | Kot 1,808 |FRF|™H 4,875
3\ Fhi|mTh 1274 |\FiEwH 2,047 |$BH 1,964 |Eiath 12433 |$¥iiam 3,001 |#FiBTH 8,950 |{EET™ 1,198 |H&HF™ 1,800 |#Em 4,850
4| ZUH 1243 |IEETH 2,020 |E#RETH 1,958 |FEH 12,383 |f2ETH 2959 |ERET™ 8,716 |BXMTH 1,173 |#\E™™ 1,784 |de AT 4,736
5|8 ET 1,189 AHEM™ 1,982 |ALIETH 1,938 | E¥mH 12,327 |#&ETh 2,893 |¥AITH 8,631 |uzth 1,170 |[db A 1,783 |JIl&T 4,686
6| REATH 1012 | Ko 1,852 |JIlI&TH 1,929 |m#TH 12,182 |;E#ATH 2888 =Bt 8,476 |WuOvh 1,160 |fliET™ 1,717 | KZE™WH 4678
7| B 980 |fBHTH 1,599 | 1,909 [#EHR[ET 12,148 |ELlUmH 2,883 |;E¥ATH 8,464 |#AluTh 1,139 |EEARTH 1,715 | &R 4,649
8liEamh 971 | Euth 1,592 | EFT 1,909 |#%RE™H 11,988 |EREEABXER 2,851 |REARTH 8,381 |#FiAam™ 1,131 |lUfgh 1,692 |#WFET™ 4,643
9| = F™H 971 | FEth 1,590 |FEH 1,904 |FRFAXER 11,979 |RERT 2849 |fEET 8,369 |{i&ET 1,123 |ALIRTH 1,671 | KR 4,635
10| Ko 947 |E&TH 1,576 |FXEHTH 1,887 |FXHTH 11,973 |JIlI&tH 2,841 |FH&RTH 8,283 |EI&TH 1123 [{&E&E™ 1611 | FEm 4,620
114 942 |;E¥ATH 1,574 |#ETHh 1,873 |SLMV=FMH 11,912 |#ITH 2832 |£iR™ 8,282 | K&Hth 1,107 &[T 1,530 |SLV=FTH 4,616
125%™ 914 ERE™ 1533 |ELVv=FH 1,858 |JIlI&TH 11,850 |&iRt 2,806 |FkATH 8274 |BH&H™ 1,093 |IEEH 1,513 |fB#&[R™H 4613
134K 907 |dbATh 1,511 |FH=ETH 1,843 |ILUfizTH 11,769 |t 2,752 |B&[th 8,264 |f&MEmTh 1,085 |Ri&mH 1,510 |RFEHBXER 4,593
14| R EBX AR 890 |FHPETH 1,497 & 1,834 |FHEMT 11,753 |&RBm™ 2,746 |FEM™ 8,233 |tHAERTH 1,073 |EERE™ 1,506 H#HH 4,555
15| FFmH 879 |#ETh 1,496 |fB#R[RTH 1,830 BB 11,653 |#B#&R™H 2,736 | tHEERET 8225 |[t2BTh 1,055 |[luAT 1,496 R ™ 4,555
16| f&f ™ 855 |Hit&TH 1488 |[f2Em 1,820 |#LiRtH 11,623 [flETT 2,705 REBH 8,106 |EIRET™ 1,038 |$iiam 1,465 |#LiETH 4,523
17|11 811 |tH#E[E™H 1486 |#F™ 1,805 |#&ET 11,255 |#XET™ 2,693 EHEANXER 8,058 |BEATH 1,015 | 1,464 {E&™ 4,456
1818 803 |#alth 1465 |ER™W™ 1,800 |BiHET™ 11,215 |EBIRET™H 2,688 |METH 7,997 |FE&RTH 1,014 f2&Th 1,462 |\FiEm™ 4414
19/L&E™ 794 iRth 1,396 | KBrh 1,798 |/KFET 11177 |FEH 2681 |BAGLEM 7,967 |#EETH 1,001 | #AUTH 1,443 3R 4,403
20| FRARTH 779 #iTTH 1,371 |EBRFmH 1,786 |HF&H™ 11,048 |#FT™ 2674 |HEETH 7,927 |RELUH 998 |fBIERETH 1,440 |BEATH 4,382
21 ERE™ 778 |{&[™H 1,365 |BREATH 1,776 | 10896 &HEM 2,655 |B¥[ETH 7922 Bt 994 |E G 1,387 | 4,378
2B 772 |BRFFTH 1,365 |IRh 1,775 |25 BT 10,823 | 2,653 & 7900 |FHEETH 984 |HFFTH 1,379 |[t&[mH 4,340
23| FHET 769 |HREHRXER 1,358 |&iRt 1,753 |iRth 10,758 |E%FTH 2,642 | KiETH 7,887 |BEH 982 |FEM 1,363 |¥MITh 4327
24| & 759 | EWMV=FETH 1,350 |ELUT 1,736 EERET™H 10,660 | ¥ 2607 |IKETH 7,885 |#AiTTH 980 |#AiTTh 1,360 | K& 4,319
25|f@ETh 758 | E%RETH 1,333 [E#ATH 1,734 |IEETH 10,635 |[&Rh 2,600 |FEETH 7821 |jEtH 974 |&WVE=Em 1,358 |IEET 4317
26| K& 758 | RU&TH 1,312 B ET 1,723 |;E¥ATH 10615 |[lLAT 2568 3Rt 7,805 |IEETH 968 |R#ERT 1,347 EREWM 4,309
27 ¥aluth 751 |f@BTh 1,278 |J)KET™ 1,720 |#FT™ 10,401 |EHtH 2,552 |JIli&TH 7,683 | Ei&TH 961 |#ET™ 1,345 |BEET™ 4,306
28 KRB h 742 | E¥H 1,237 |&H&H&T 1,714 | KBR™ 10,358 |&F#H™ 2542 |EUtH 7,672 | #LiRTH 959 |FHBETH 1,333 |Eil&mH 4,296
29 #3iITh 742 =R 1,209 |IXET 1,712 AL A 10,344 |BRfFH 2542 |EWth 7,628 |l 947 |HiItE™ 1,324 (Ao EMT 4271
30|HI4ET™ 741 | )I&TH 1,195 | Kz 1,669 |ZRmM 10,266 |LLUfizTh 2540 |HHH 7,623 |E¥ATH 947 | RE¥mh 1,316 |[LB&T 4227
31| MRS 7133 {&EET 1,191 [dEAuinm 1,634 |¥MITH 10,105 |#ALUm 2531 |gitE™H 7599 |HEHRXER 945 |EIUTh 1,285 |ElUm 4,187
32| F0FrH 729 | KiZETH 1,164 |ERET™ 1,630 | F0FkLmh 9912 | 2,498 EBFFTH 7544 |FETH 942 | BHETH 1,273 | E&tH 4,180
33 B FFTH 728 |BE[ETH 1,129 |AiHE™ 1,618 |BRE™ 9876 |IEETH 2,497 |#LiRtH 7521 =B 928 |BIREBXER 1,251 |FkETH 4,160
34|3LV=FET 719 WAtk 1,108 |[lLUfsTh 1,604 |&£R™ 9810 |FH&HEH 2,494 |lufzth 7495 |&LV=FEW™ 917 |BEH 1,250 |FHET™ 4,148
35| B[ 7118 |[LET™H 1,102 |EWT 1,588 |EHH 9,664 |[LE™H 2484 |i#Et 7459 | ZHET 913 |Z=BmH 1,237 [lET™ 4,052
36|fF ™ 713 LET 1,095 |#\IT 1,587 BT 9517 | K#ETH 2468 |JKET 7417 |[#E™H 913 |&%RE™H 1,235 |;Efath 4,021
37/4E™H 692 |£iRTH 1,084 |[t2HTH 1,555 | R 9,400 |fEf™H 2459 BEH 7,339 | K:iETH 911 | KiEMW™ 1,230 &R 3,995
38| R 691 |ETh 1,076 |F0Fruh 1,508 | KiETMH 9,394 |HItETH 2422 |[LBT™H 7,287 |BRFH 903 | 1,227 |fEET™ 3,989
39| KBrth 687 |FFxILTH 1,068 |[RET 1,489 |f2RET™H 9,358 | KBt 2,397 | KBrth 7,187 |BR[TH 887 |ILBE™ 1,223 2Bt 3,894
40|[EET 602 |fHETH 1,050 |Ri&m 1,479 |iEtH 9,312 |E#th 2,396 | Ei&tH 7144 | BT 886 |;E#ATH 1,193 | fngrum 3,883
41luATh 601 |JKETH 998 |i#Em 1439 |[GETH 9,310 |#L1RH 2,390 St 7134 |HitE™H 885 |&EiAmh 1,192 |BEmH 3,873
42 FRETH 569 |BHEuH 985 |fEETH 1,439 |BEATH 8,824 |/KET 2,357 |fEET™ 7100 |[LETH 885 |f@HTH 1,184 LUz 3,868
43|;Fm™ 557 |m&ERTH 968 |f&fE™TH 1,417 | KHoth 8,758 |BEARTH 2,324 |f&[™H 7,075 3Rt 877 |JlliTH 1,182 i@ 3,829
44Kt 522 |fEETH 958 |lLATH 1,414 | =SWh 8,556 |fEET™ 2310 |{&E&™H 7016 | E¥mh 869 |JKETH 1,175 | E¥mH 3,732
45| BELH 487 | KBrth 916 |E#mH 1,410 |#AlUth 8522 (KB 2,288 ¥ 6,904 |&Rth 841 |]&th 1,170 |#Umh 3,730
46 SaTh 481 |Stamh 844 |K&Hth 1,393 | 8519 |Ri&™H 2281 |lLATh 6,894 | KExth 825 |&iRth 1,155 |BfFH 3,683
47| B 429 |®HETH 801 |EI&TH 1,382 |fEETH 8,503 |dtAiNThH 2,265 |dtATh 6,703 |&%0tH 797 |FFRLTH 1,113 |/KFT 3,682
48| S %ATh 404 | Zx1TH 742 |[@Eth 1,377 | BT 8,500 |EETH 2,255 | Kot 6,638 |JKETH 791 | KPRt 1,079 |i#Emw 3,679
49| uth 387 |MWth 704 | #aTh 1,361 | S50 8,349 | XK&Hth 2234 |EGTH 6,513 |FFHT 727 |fHETH 1,077 |[f@Ht™ 3,653
50 ARE@TH 326 |#LiRTH 403 S0 1,353 [{£ET™ 8,303 |f&BHT™H 2,228 |FFxLTH 6,431 |f&8HTH 706 |ARERTH 973 | &#Th 3,640
51 |#LiE 284 | BHH™ 365 |[REARTH 1,297 |f8HTH 7985 &%t 2,198 |fE8HT™ 6,407 | FIFxLTH 691 |&S%0th 971 |RitE™ 3,615
52| & 254 |BRERTH 312 {&EB™ 1,269 |lLAT™H 7,898 | FIFxLTH 2,069 |ExIth 6,099 |fEETH 651 |fEET™H 933 | &fATH 3,600
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———————— HBE: g | <& B- |——<HE: - | HE - |—<¥HE: - <& - | ——<HEE: - <& B |—<HE: -
ESES 14990 |£H 962 |2[F 1230 |[2F 678 |2[E 614 2H 3217 |&H 4392 |2F 31,170 |&F 44,961
1| KE#EMH 18,332 |&£R 1,567 |#FEamH 2,086 |LLfizth 1,391 |lLUfmh 1,830 |REAPXER 4,038 |fXATH 6,589 | Friath 41,089 |Frimm™h 58,969
2| "ERT 17,719 | #Fiam™h 1,565 |E%RmH 1,823 |F=&™H 1,230 |IGEBT 1,279 |FXHTH 3983 |E&H™ 6,223 |HEERXER| 39,508 |ILVf=FTh 54,967
IFXRM 17,470 | F%[E 1,495 |{&&m™ 1,796 |$iiam 1,074 #hi\mH 1,071 | fB#E[RTH 3945 |RE™H 5936 |SL\i=FTmH 38,984 |HH{EET 54,144
4| KBirth 17,286 |#FT™ 1,328 |&iRm 1,700 |#ET 959 | ¥ 894 |#EETH 3914 |fAEET™ 5631 |t&EETH 38,256 |fEETH 53,224
5 ¥LiR 17,279 KPR 1,322 |R¥mH 1,634 |FEm 951 |Z=RB™H 891 |FH#RTH 3,638 |#LiRTH 5254 | fHIE[ET 36,703 |Ri{BTH 52,857
6/db L h 17,081 |iRth 1,243 |[de At 1,623 | E¥mH 938 | KBt 874 |FETH 3628 |HfFT™H 5223 |R#kATH 36,368 |FEM™ 52,297
1| FEH 16,922 E¥Fm 1,239 |&LW=FTH 1,596 |HEFEAXER 914 |FEWH 854 |Jl|i&TH 3577 |HEEXER 5203 |FEH 36,131 |E#HXER| 51,806
8/ ¥ TTh 16,835 |;EMATH 1,227 |AHE™ 1,590 | KPR 879 iRt 822 |METH 3564 |#Fia™ 5,187 |JIli&H 35528 |FkETH 50,381
9\ #ri|mh 16,808 | ELV=Fmh 1,219 |IFETH 1,579 |ELUH 877 |m&RTH 800 |H#H™ 3517 |SLV=Fm 5017 |EUmH 35206 |RErmh 50,335

10| BEATH 16,715 =R 1218 |#&ETH 1566 |JI&T 870 |&HET 785 |EULV=FTh 3501 | 4984 |HERTH 35152 | RiI&H 49,843
1138 16,694 |#EETH 1,199 |FEm 1,536 |iRth 855 |;E#ATH 778 B 3,498 |##Emh 4937 AHET™ 34578 |F&#E™ 49,491
12 ERET 16,568 |FRE&RTH 1,171 | KBR™ 1,506 [LhET 807 |EIRE™ 775 |HIfETH 3469 |[uET 4897 |fHFT™ 34,040 |)IigTH 48,532
13| & 16,289 |HREAXER 1,149 #luth 1,470 |#B¥R[ETH 794 |&iRt 775 | E¥FTH 3465 |EWUm 4895 B 33171 | AHEH 48,514
14 2HEM 16,162 |db At 1,128 |FREEEBXER 1,460 ZRtH 766 {lE™H 768 |ERRFTH 3,445 |lufzTh 4,867 |RiItET™H 33,134 |HE#ERTH 48,323
15{E8mH 16,141 | KiE™ 1,122 |BEART 1459 |#FT™ 765 |FREEARXEB 752 |E&MTH 3406 |[t2BTH 4857 L&ETH 32,769 L& TH 48,265
16| FkE™ 15,704 |FRfFmH 1,117 |#B¥&[R™H 1,422 |&LWM=FH 760 |FHAERETH 742 |[$EETH 3403 |FEMH 4848 |FHETH 32,658 |LLfizth 48,215
17| 15,692 |#EHE[RETH 1,103 |[#FT™H 1421 &R 756 | &LV=FET 707 | KiETH 3,401 [t 4749 K™ 32,588 |REATH 47,979
18|f#F ™ 15671 |FEH 1,088 [E¥ATH 1,411 |ALRTH 737 |[#EFTH 698 |i&th 3,397 |FH#&RTH 4712 |E¥ATH 32545 B 46,779
19 FHM 15,657 |IEBEH 1,083 |[ET 1,364 |db AT 729 | FFkLTH 696 |FHP=T 3,300 |Hi#ETH 4638 | KiZEMH 32,127 E#¥ATH 46,754
20 t&EET 15544 |ELUTH 1,079 iRt 1,354 &R 693 |ELUTH 693 |ALtETH 3,298 |XK:iETH 4610 |ufzTh 32,097 |EEMTH 46,593
21| g% m™H 15,534 |¥A U 1071 |fEE™ 1,332 |fAHE™ 684 |dtAiNTH 677 | KRRt 3,232 |JIli&TH 4534 K&t 31,846 |[#ETH 46,469
22 RI&G™H 15465 (BB 1,068 | EZRT 1,323 |f2EmH 663 |FFFTH 653 l&ETH 3,228 | KBrth 4509 |&iRth 31,741 |dt 45834
23 HEIEET 15447 |[LETH 1,065 |[lLATT 1,313 |f2RET™H 662 |BELH 647 |BE[ETH 3213 |RiI&TH 4504 | KFrth 31,658 | XK;ETH 45,612
24| [ BT 15293 |{&&m™ 982 |Ri&™H 1,298 | ZHEMH 656 |f#ETH 644 =R 3202 |f#FTH 4485 (=Rt 31,651 |IEETH 45,585
25| Ko 15216 |JI[&tH 956 |f&fmTh 1,282 |EfFmH 622 | K&Hth 635 |#riamh 3175 |&Z=BwH 4401 |dehth 31530 | KBxth 45,364
26 | F0Fr U™ 15189 BT 938 |FFFTH 1,279 | R&GH 614 |1l 628 |LLfzth 3,168 |db T 4341 |IEERTH 31,267 |E&fE™™H 45214
27 &R 15,185 |/KFPT 925 |Eh 1,265 | S50t 604 (2B 619 |ZEHEM™ 3,117 ;& 4,289 |BX[Mh 30939 Z=BEM™ 45,119
28 |;EHATH 15,182 |luOH 917 k& 1261 EREM 600 |fESTH 611 |KFET 3,093 |BEmM 4,228 |[HHM 30568 |EHFHT 44,606
29T 15119 | & 900 |[EuTH 1,210 |[{&&w™ 599 |RiI#B™H 565 |dtiNTh 3057 |F#ETH 4138 2B 30,367 |E&TH 44,597
0| HAHXER 15112 |UFsth 889 |&tath 1,202 |&EFHFT 594 |JKETH 560 |tgHmH 3,049 |#NTTH 4,128 |t2RETH 30,221 |#TTH 44,581
31| &V=FTH 15011 [fhET™H 862 |[JKETH 1,196 | KiETMH 575 |KiZETH 552 |EI&TH 2995 |fBHT™H 4094 |BFFTH 30,191 |[ERB™W™ 44,440
2/uETH 14914 |t2RE™H 862 | XK;ETH 1,196 |;E¥ATH 563 | BHHM 540 |RIBtH 2989 |®R 4092 ¥t 30,033 |HFT™H 44,182
33|FHREH 14,695 |ELLT 851 |m#BTh 1,195 |#FrUmh 554 |feFHmH 538 ;T 2968 |/KET™H 4089 |BRZEETH 29,466 |f2RETH 43,688
34|lLUfsTh 14,608 |;ETH 835 |lUFzTh 1,174 |FH =T 552 |ER[ETH 500 |#¥AiTTh 2,964 |REKTH 4035 |JKET™ 29,059 |3Rth 42,939
35| E 14537 | R 831 |JIlIgTH 1,123 |f&@H™H 551 |RKETH 499 &Rt 2961 |BEHEM 4,003 |f@FH™H 28,461 |&iRt 42,832
36/lLAO™™H 14499 |f28HTh 811 |;#mh 1,105 |BX[@ETH 541 |luAth 489 |;E¥ATH 2958 &Rt 3979 |FEART 28448 |JKET™ 42 551
37/J1i&TH 14,465 |FFRUT 798 | K&t 948 |HiItE™ 517 |F#E™ 483 |IEBRTH 2938 |[{4EEM™ 3910 |#LMgEth 28240 |fEET™ 42,296
38|EET 14,440 |FHETH 744 |HIFETH 943 |fEET™ 502 |&%0tHh 475 |BEH 2,927 ¥l 3,908 |#MiITh 28,185 |[{EETH 42248
39| ElET™H 14,267 | RifE™ 743 |RETH 931 |El&TH 491 |5 466 | LTH 2876 |IEETH 3,890 |EiFTH 27598 |{EETH 40,665
40 | % [E 14,227 |HEARTH 742 |FHET 920 |IKETH 485 |BX[th 465 |f2RETH 2,831 |E¥ATH 3,720 ;&M 27,308 ¥yt 40,510
41 ¥l 13,890 |BERET™ 721 |feH™ 908 |[EB&TH 475 ¥ 462 |HEAT 2817 |f&f™H 3,705 |[uth 27211 | K&Hh 40,394
42| =it 13,790 |FAHET 721 |BERET™ 879 |=iith 447 kBt 452 F0FruT™ 2616 |[LBT™H 3696 |fEET 27,189 |FE;Eh 40,267
43|RitE™H 13,720 |f2Em 688 |FFxILTH 847 |#xluth 428 |#LiEvh 452 |\[LBT™ 2,589 |FNFrLTH 3593 |[LB&T 27,049 |#LiRth 40,080
44Kt 13,707 |&EFH™ 681 |feE™ 816 |¥AiITh 415 |RiI&m™H 428 kB 2550 |EiETH 3503 |#lth 26,683 |[LBTH 39,794
45 FRETH 13,654 | KHoth 674 | ITH 782 |i#ETH 413 |REKRT 410 |t 2433 |luOw 3434 |BELH 26,435 |&%0th 39,669
46| BELH 13594 |[¥ATITh 664 | BHHM 776 |KETH 398 |fRffm™h 399 |luATh 2429 |ERBEW™ 3413 |{&B™H 26,346 |;£TH 39,380
472 BT 13,583 |#LiRmH 660 |#LMETH 724 | KHTH 397 |[¥MITh 383 EIRBEM™ 2412 | Bmh 3384 ERET 26,339 |[HLH 39,129
48| &R™ 13,249 |&%0H 501 |E&mH 591 |lu@vh 380 |FEtH 369 |Futh 2,352 |t 3,137 |&%0mh 26,143 |$&HTH 38,691
49 E¥ 12,956 |EETH 467 [ERBEW™ 578 |BHEtH 363 |E&TH 359 |BREETH 2317 |B&TH 3,100 | K&Hh 26,017 |BEH 38,511
50| & &ATh 12,885 |EI&tH 400 S0 520 |REATH 358 |[LTH 350 |fEETH 2175 |fEE™ 2978 |lLATh 25,729 |F0FruthH 38,492
51 BB fFmh 12488 EIRE™ 386 |BEWH 497 R 310 |[5B&TH 319 | K&t 2172 | K&Ht 2,808 |#NFxLth 24802 |\ E#ATH 36,999
52| f&8FHh 12,207 |BRE;ET™H 330 |AREETH 353 |BREETH 306 |ARERTH 205 &% 2,163 |FE;™H 1,725 |5t 24235 |lLuOth 35,980
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0 £H 1,746 | £E 1,441 |£EFH 1,603 | £H 3419 |2EF 3383 |2HF 6,986 |=HF 2081 |2HF 4121 |&EH 7,946
1 #i|am 5617 #iath 4720 |t&EETH 2232 |Eluth 4,199 |JII&TH 4225 |RifET™H 9,787 |FHE#&RTH 2,965 |FH&RTH 5925 |HE#HXER 10,470
2\ k@™ 3296 |FAHETH 2946 |ELUH 2067 |FriET™H 4,193 |#EETH 4192 |lUfgth 9,000 |FriBTH 2,758 |#hiET™ 5570 |&LV=FET 10,163
3|tEET 2947 fEETH 2,164 | fEFEET 2019 HHERETH 4,166 |SULN=FH 4,140 |tEHEET 8,885 |tEETH 2,738 |lufzth 5283 | Bl 9,980
4| R AR X &R 2912 |HRFEHXER 2,103 |SLVi=FETH 2,008 |t&ETH 4,116 |fB¥EET™ 4110 | E¥m™H 8,764 |ELUTH 2,729 |&LV=FTH 5173 | $iBth 9,700
5/&LV=FH 2,332 |lUFEtH 1,953 |[FREHBXER 1,984 |iRth 4,029 |HiIt¥ET™H 4096 [t2Bm™ 8,713 |fAHET 2,709 |#EETH 5160 |f#FT™H 9,642
6| FiE™H 2224 |ELZ=FETH 1,936 |FEm 1,907 |SLMV=FEmH 4,022 |REARXER 4022 |FHETH 8510 |HFHM 2,693 |FEMH 5136 |tEER™ 9,637
1| R=ERT 2222 |[EHH 1,919 |JIlI&TH 1,903 |#XHTH 3967 |FEM 4020 |#EET™ 8,416 |HEARXER 2,635 |FkEATT 5,122 |Hiit&™™H 9,637
8|J1| & 2190 |FETH 1,846 |FXHEHTH 1,887 ERt 3,906 |ifzTh 3974 |&LV=FTH 8,403 |FEM™ 2606 |[EHHH 5120 |FZEth 9,616
9|F%M™H 2,148 |FH{ERETH 1,801 |ER™W™ 1,878 |ZHEM 3,891 |#FiBT™ 3972 |HFFTH 8,299 |&LVf=Fm 2,556 | fHIEETH 4978 |JIli&TH 9,520
10| LU AT 2,136 |FEMETH 1,762 | ZHE™H 1876 |#FT™ 3849 |HRFH 3,958 |Fhiath 8292 |ILfizth 2,538 | ERIEEHNXER 4951 (ZHET™ 9,446
11| 484 R h 2,129 |IEETH 1,727 |Z=#H 1,867 |#ATITh 3810 |[f2BT 3,946 |JIligTh 8,263 |&iRTH 2498 BHETH 4,751 |f&ET™ 9,436
12| 55H%M 2,094 |R&ERTH 1,661 |[#R 1,858 | R¥mH 3803 |EWum 3857 |FEM 8209 |AEHET 2497 =BT 4705 |FR#&RT 9,252
13| 2,021 fLETH 1,650 |F#RE™ 1,851 | KPR 3761 |F#RET™ 3,760 |REARTH 8,096 |fHERTH 2,482 |;E¥ATH 4690 |FHRETH 9,089
14{lEH 2,001 |BE[TH 1,649 (L& 1,834 |FEth 3,746 | K™ 3,755 |=E & 7,987 [EATH 2,457 |BEAXTH 4577 BB 8,761
15 2HEM 1,998 &HEM™ 1,645 |Fiat 1,826 |FH#&RTH 3,729 |dL TR 3,687 |HEARXER 7,860 |JI|I&GTH 2435 | KiET 4563 |E&Mth 8,748
16| I B Hh 1,973 | JIl&H 1,554 |#F ™ 1,767 &R 3,729 [u&ET™ 3663 |[flETh 7,804 | KiETH 2,342 |EE[th 4522 |#HET™ 8,653
17588 1,937 8Bt 1,532 iRt 1,751 | RI&H 3,712 |&iRTH 3581 | Ei&H 7,590 |#LiRtH 2,326 |FEETH 4518 | KBrth 8,569
18| K¥FmH 1,730 | #1grLmH 1443 |R¥ ™™ 1,738 &R 3,687 |FRM™ 3548 |EE[th 1588 |t2B&™H 2276 | RKEtH 4471 |f@8H™ 8,517
19| B A 1,715 |#FmH 1,435 |ALIETH 1,672 |REARXER 3,687 |®#HET 3533 [{&EBT™H 1497 =B 2,262 At hth 44711 | E=BW 8,450
20&EBh 1,707 | E¥m™ 1,389 [E#ATH 1,666 |IxETH 3,646 |BXMTH 3,501 |dbAdth 7392 [#ETH 2,259 |JIlisTH 4444 BT 8,435
21| KBrh 1,653 |#Umh 1,366 |FKFmH 1,657 |#LiRTH 3,624 |#TITH 3499 ERET™ 7,237 |BRfE™H 2235 |&Rth 4434 |BHT 8,416
22|18 1,635 |t AT 1,346 |IKEH 1,635 |[EREM™ 3594 |REKRTH 3,440 | E&th 7021 |f8H™H 2,231 |Eluth 4,409 |E¥TH 8,362
23| RiItE™ 1,615 |ZBwW 1,342  |HIHE 1,627 |[{£&w™ 3553 |fBH™H 3433 |#Ith 7,020 |EE[TH 2214 |&iRt™ 4355 | KiET 8,321
24| &R 1,596 |HI#ET™ 1,334 | Kz 1,580 [lhET™H 3534 | K& 3425 |JKETH 7,000 |IEETH 2177 |IEETH 4307 |&iRm 8,289
25| f 0 u 1,588 | 1,333 |ZEREH 1,573 |JIl&TH 3510 |IKETH 3413 |Euth 6,991 [IRth 2172 | KBt 4262 |dLATH 8,069
26| B FTH 1575 | KR 1,306 |f2ETh 1,572 AL At 3497 |AHET™ 3,369 |FAHETH 6,842 | KBxth 2,167 [{l&E 4256 |RI&TH 7,661
27| K#EMH 1,561 |FEB=ETH 1,281 | KR 1552 | KiET 3,493 |HE&RT™H 3361 | ZEHEM 6,807 [i&TH 2,159 |fLigEth 4252 ¥ 7,643
28|ELUTH 1,546 |EWT 1,257 |JKPETH 1,545 |lLUfizTh 3,489 |Ei&TH 3,324 |IKETH 6,801 |dbAMth 2141 |#ET™H 4232 |f&fT™H 7,570
29 db i h 1,467 &Rt 1,239 |EH 1,535 |FHEMT 3,488 |t2fEtH 3262 &R 6,790 |FH =T 2,095 |FE[TH 4207 | E¥m 7,502
30|;EfTh 1,438 f2Rm™H 1,221 |F#HET™H 1,529 |EERE™H 3441 |ERBET™ 3229 K&Hth 6,782 KT 2,003 | St 4188 |ALMRTH 7,499
3| FHET 1,390 LB 1,207 |[lLUfsTh 1,515 |RifE™ 3443 |fHFTH 3,191 |E%[™H 6,766 |;ETH 1,951 BB 4146 L& 7,497
32|)kKF T 1,369 |EUmH 1,190 [lLAT 1,499 | #AlUTH 3438 |EH™ 3,180 |FOFxLh 6,647 |¥MITH 1,938 |{&&E™ 4047 |REART 7,450
B LET 1,329 | KiEMH 1,186 |Ri&mH 1,496 |BEATH 3412 |[EB&™H 3174 &R 6,357 | FIFxLTH 1,923 | K& 4038 |[JKET 7,448
34| ¥A1UTH 1,310 St 1,177 |#I 1,493 | 3395 |{&&E™™H 3172 | KiZETH 6,352 |BEH 1,895 |RiiE™ 4024 |#MITh 7,295
B|EE™ 1,278 Hffmh 1,161 |[dbAuilm 1,470 |=&H 3,356 |JKETH 3,139 ¥t 6,321 | S#th 1,851 |{8HmH 4006 |EiFTH 7,253
36 | &R 1,270 |BHEH 1,140 |#luth 1,457 |f2@B&Th 3,342 |;E¥aTh 3,134 | Etath 6,315 |f2RE™H 1,826 |#AITH 3,998 |[ALutH 7,246
371 KRG 1,244 |BEATH 1,128 |E&mH 1,416 |FRFmH 3,297 | KBt 3119 | H&H™ 6,312 |BIETH 1,822 |f2&TH 3,986 |EE[TH 7,218
38 BN 1241 | El&H 1,115 |[f#EE™m 1,404 |&%0TH 3293 |BEwH 3111 |[LBETH 6,302 EEH 1,790 | F0gruth 3,955 |HfFTH 7,188
39 |REATH 1,202 |JKET™ 1,093 |5 1,391 |[GE&T 3262 =B 3,098 |;E¥ATH 6,257 |{EE™H 1,785 {2 3945 |fEETH 7,145
40;ETH 1,183 |fEE™™ 1,075 |&H&HFH 1,385 |lLATH 3,228 |t 3,047 |f&[™H 6,231 | Kot 1,766 ;ETH 3,862 |;ETH 7,141
AT 1,179 EBRE™ 1,051 |&%0mH 1,384 |;E¥ATH 3,202 |#LMRTH 3,031 | #xuth 6,215 |JKETH 1,764 |=&H 37711 |{&&w™ 7,113
42|fB8FH™H 1,159 |#¥MITh 1,032 |[ETH 1,353 |&H&M 3,190 |luOvh 3028 |fEHT 6,196 |REARTH 1,737 BT 3,753 |ILETH 6,962
43| Z 50 1,129 |ZEw 990 EIRET™ 1,352 | F0Fruth 3,181 |#uvh 3028 |fEET™ 6,184 |LLATH 1,726 |#AUmH 3,680 |FFHmEh 6,729
44| ¥TTH 1,128 &S50/ 974 |f&[™™H 1,351 |JKPETH 3,146 |K&HH 3003 =BT 6,165 |RI&TH 1,684 |=SH0TH 3630 |lLuOTH 6,709
45 [T 1,043 FF;m™ 951 |F0FruTh 1,344 | &A™ 3,137 |#BFmmh 2987 BEH 6,114 |RiI#B™ 1,681 |RI&mH 3616 |Ff1Frth 6,655
46 | LR 1034 | K9 919 |feHm™ 1,342 |fAET™ 3,132 |B&th 2,984 | Kirth 6,089 |[LE™H 1,673 |/KFET™ 3521 |BEwh 6,649
47| KHh 1,026 luO 830 |[LuThH 1,304 |t 3,123 |XK:iZETH 2963 |METH 6,055 |#AUH 1,662 |[RETH 3,357 |lufgth 6,635
48| lLAT™H 1,004 |E&H 809 |EEATH 1,246 |EETH 3087 |fEE™ 2917 |$LigtH 6,039 |BHfFTH 1,651 |EREM 3,345 | KHth 6,613
49 IR H 971 |f8HTh 803 |AREET 1,219 | KHoth 2,952 |FIFrITH 2,869 |lLOTH 5685 |BIRET™ 1,607 |[luATH 3,339 |#AlUTh 6,582
50 EIRET 928 |#LIRTH 788 |{EET 1,217 |EH 2934 |EtT 2,865 |[ELTH 5130 |fEm 1,540 |FRRF™H 3279 |fgEm 6,535
51 =5 905 |{EET 784 | Kot 1,119 |f&8H™H 2,769 |Eth 2,742 | BRERTH 5092 |E&0th 1,471 @t 3117 |BRE™T 6,481
52fkE™ 839 |[Luth 771 | EEH 1,078 |BRE;ET™H 2402 |;#MH 2516 |;EH 4990 |FRE;ETh 1,360 |BRERTH 2,404 |Etth 5,858
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0 £E 10,395 |£F 2254 |[2EF 2603 |2EF 1,924 |£EH 1,472 | £H 1,799 |£E 2723 |2HF 1271 |&E 2,505
1/8I4&™H 13,973 |Z=#& ™ 2990 |[SLVvi=FETH 3,303 |#x@ATH 2,446 |FXAT™H 2248 |feBTH 2,199 & 3282 |#FiET™H 1,733 E¥Hm 4,253
2\ $imm™ 13,338 | FAXER 2,989 |t#ETH 3274 |EWth 2,366 |fEET 1,938 | E®mH 2,185 |#FhiBT™H 3255 RET 1,725 |$iiBm 3,634
3 FHEH 13,060 |#ET™ 2,960 |BIRARXER 3240 =B 2,349 |RiE™ 1,815 |$iam 2,162 | RE™H 3,250 |ELuth 1,667 |ELUm 3,367
4| &WNV=FTh 12,934 |&LV=ET 2,957 |m&RTH 3235 |IKETH 2327 =B 1,749 [LETH 2130 |{EB™ 3,129 |UFth 1584 |IEETT 3,218
S5|EHEEXE 12,835 |Jl|i&TH 2,765 | FEIEERTH 3,077 |Ri#E™H 2280 |&FHT 1,727 |¥MIT 2068 |ERET™ 3077 |IEETH 1,553 BEREWM 3,170
6| FEIEE T 12,768 |#A#R[RE™ 2,748 |fHFETH 3,059 |luOvh 2177 |IKEBTH 1,720 |luAt 2039 |XKiZEMWH 3065 |BEHH 1487 |REXRT 3,035
1| FEH 12,686 #FET™ 2,668 |JI|igTH 3036 fEETH 2,151 |EWuh 1,710 |[GET 1,984 |;E#ATH 3,045 |&iRtH 1,445 |LUfgTH 3,019
8|)115h 12,439 | ALIRTH 2,636 |FEmETH 3,032 |H&RTH 2,149 |FH&T™H 1,710 [ E#ATH 1,981 |[[GET 3011 |¥ATITh 1,436 |Ei&TH 2,982
9|#&ET 12,166 | KiEMH 2575 | KBt 3,023 |;E¥ATH 2,143 |fHFETH 1,695 |EHTH 1,953 |#FT™ 3007 |f&HTH 1,427 |;EWT™ 2,919
10| FkET 12,085 |BRF| 2,558 |REARTH 2991 |£iRH 2,131 |&R™ 1,684 |ILUfizT 1948 ¥\ It 3,005 |;EfiTH 1415 [ dbApth 2,887
11|#F™H 11,926 | KR 2,538 |FEH 2,966 |FHIERTH 2,131 |#Fi|am™m 1,670 |fB¥E[R™ 1,944 =B 2,986 |[ELLTH 1,399 f&Hm™ 2,877
12| feRTH 11,776 | FEH 2535 |Z=RBTH 2937 |#ETH 2,127 |#LiEvh 1,620 |JKPETH 1,942 | K& 2964 |{EBT™H 1,396 |¥MITh 2,833
13 FHFM 11,692 |ZHE™M 2534 | KEH 2,881 |#Friam™ 2098 |FEMH 1,609 |EERE™ 1,937 |#HE[R™ 2,952 |lLOTh 1,395 {&Em™ 2,813
1425 EH 11,653 (=Rt 2529 |BATHEW™ 2,880 |dtAdNTh 2091 |EEth 1,602 &R 1,931 ;& 2927 ERE™ 1,391 |;&m™ 2,796
15| R&R™H 11,626 |fi&ET™ 2458 |#FhiET™H 2,857 |Ei&TH 2071 | KiEMH 1,586 |#AUTH 1,920 BEmH 2927 @B 1,389 |ELLT 2,762
16/ #3iIh 11,589 |EWMATH 2,439 |[{lEH 2,856 |f@FHm™H 2,069 |#NTTH 1,582 | KiEh 1,910 |5t 2870 | BHETH 1,383 |&R™ 2,737
172Ut 11,563 | 2413 |#L1RTH 2,827 |KiZEMH 2,062 |BEMTH 1,568 |FH = 1,889 |IBET 2,852 |BE[tH 1,379 BT 2,710
18]I & mh 11,413 | $Fiah 2,385 |BRME™ 2815 |&LV=FmH 2054 |Ei&TH 1,565 |=TH 1,881 |JKFET 2825 |K&Hth 1,365 |Z=RmW 2,665
19| EFH 11,004 |#XHETH 2,383 |®kETH 2,793 |FEmh 2,041 |ufzvh 1,559 | B 1,879 |[luAT 2,807 |®kETH 1,358 | &R 2,652
20| KBt 10,785 |FEETH 2,322 |#WITh 2791 | BEET 2,032 |REKTH 1,543 | ERT™ 1,878 | RI&™H 2,793 |BEAXTH 1,357 |RAET 2,629
21 | BERE 10,693 |3Rth 2,299 IRt 2,786 |HEHRXER 2,023 | KBt 1,538 |FXHEHTH 1,867 |EERET™ 2,783 |El&TH 1,352 | KHom 2,605
2B 10,676 |ELUH 2,279 |fE2[EH 2,741 |B#[™H 1,996 |dbAuinm 1,536 BEIRE™ 1,867 |LLUfizTh 2,772 i&ETH 1,345 |RitET™H 2,574
23| & 40th 10594 |#\ITH 2274 | RE¥H 2,740 |EFHF™H 1,975 |luOw 1,529 |BfFH 1,856 |REARTH 2,767 |dt At 1,334 |[{iETH 2,573
24| BRRET 10,529 |dbAid 2,265 |HItBTH 2718 ERBETTH 1,966 | ZHEM™ 1,528 |FH#™H 1,847 |FEm 2,720 |fEBETH 1,330 3R 2,570
25lETH 10,488 |HEATH 2,260 |;EH¥ATH 2,706 |t&EETH 1,959 & 1,506 | K& 1,837 |ESLV=FH 2,718 ;& 1,329 | RI&H 2,567
26| ;& 10415 |f2R™H 2217 [ dehmth 2673 @Bt 1,957 |FHEM™ 1,503 |#Fm™ 1,821 & 2,707 |#aluth 1,312 | KiEmH 2,546
27| K:EH 10,394 &Rt 2217 ERE™ 2,632 Rt 1,932 |fgHm 1,500 | K& 1,792 | EFEABX AR 2,695 Ex0tH 1,311 &% 2,529
28| F¥RE ™ 10,392 | R¥h 2210 |RI&™H 2,618 |Jlli&sTH 1,932 |ELVv=FH 1,493 | REAXER 1,753 |fEET™ 2,681 |&th 1,307 |fEET™ 2,500
29 AL A 10,387 | W& 2,181 |BERATH 2614 i#EmH 1,931 |#E™H 1486 |{E&m™ 1,752 e Rt 2675 =BT 1,291 | SLV=FTH 2,500
30| El&TH 10,365 |BERET™ 2,160 |=i&th 2536 | Etth 1,929 |E#RE™ 1,479 |JIl&tH 1,743 |#&ETH 2,672 | KB 1,274 W@ 2,477
1 {EET 10,204 |RiIHET™ 2,133 |EHH 2,533 |#LiRTH 1,929 L& 1,478 &t 1,738 |FH#E=ETH 2,665 |RiItETH 1,269 | KR 2,471
32|&RT™ 10,146 |G ETH 2,129 |IKETH 2520 |#¥iIth 1,913 |EBIRET 1,460 |FEm 1,737 |#luth 2,660 | K&t 1,264 |#B#[RtH 2,464
33| f@HH 10,078 [JKET 2,095 |FHEET 2510 |BEMth 1,901 [;E#ATH 1,457 |SLV=FEmH 1,735 |R#Rh 2,658 | K:ET 1,258 &[T 2,457
34|)KFTH 10,022 |F#FT 2,069 |S%0tHh 2507 |JKETH 1,885 iRt 1,450 |EEARTH 1,732 |EBff 2,653 |ER[ETH 1,251 |BRfFm 2,444
35| REFH 9816 |BHuH 2,029 |[J)KETH 2473 |BRFH 1,866 |JKFTH 1,448 |IRET™ 1,729 | #LiRw 2,642 |SLV=FEWH 1,237 ¥ 2,440
36 | &R 9620 |fEETH 2,000 |K&HH 2449 E¥mh 1,845 |;ETH 1,447 |F&HT 1,729 | KPR 2,641 |JIGTH 1,205 |[GET™ 2,437
37/fEET 9,612 |UFTh 1,995 |EWTH 2417 |{EE™H 1842 |[LET 1,442 |#ETH 1,728 |EUH 2,627 |FE&RTH 1,200 | F0grILT 2,423
38| BfFTH 9413 |BfFTH 1,995 |&R™ 2,381 | K&Hmh 1,842 |#EE[RT 1,438 BT 1,713 |FElm 2612 |f&f™H 1,199 |FH#&RT™ 2,415
393 9,403 |;ETH 1,989 |FHKFmH 2,345 | K&t 1,842 | K&t 1,431 |FEH 1,706 |{&&t™ 2605 |[LET™ 1,193 |[f&2fm™ 2,370
40 | #LMRTH 9312 |[EB&™ 1976 |[LET™ 2,344 | KRt 1,835 |f2Em 1,422 |#LIRH 1,698 |F¥RE™ 2595 |FHIERTH 1,190 &Rt 2,285
A1 @t 9,248 |Muth 1,931 |{8Em 2,340 |BEth 1,823 [{EEmH 1,416 |E&mH 1,692 ZHET™ 2,581 | HEARXER 1,170 |FEH 2,249
42|z h 9019 |[ERET 1,857 &t 2324 |[LET™H 1,823 |ERITABX &R 1,412 iRt 1,691 |F0FrLm 2569 |FEH 1,169 &H&H&™ 2,240
43 ¥ lUTH 8,965 |fEET™ 1,841 BT 2,313 |lUFEmh 1,821 | RI&™H 1,406 |deAuimth 1,690 |gitET™ 2,559 |#LiRtH 1,162 |#EH 2,231
44;ETH 8,935 |Ei&ETH 1,817 |[ILUfgTh 2293 |FEETH 1,815 |Bffm 1,386 | KPR 1,655 |JIlI&TH 2542 |BRFFTH 1,148 |fF ™ 2,216
45| [LETh 8855 |[{EET 1,805 |F0grLTH 2,265 |REKTH 1,752 | Fgrum 1,380 |t 1,644 |f2[ET™H 2515 |HEETH 1,147 |#LiEm 2,210
46| Knth 8,830 |Etth 1,793 |[fAET™ 2243 | BT 1,741 |#lUth 1,380 |f8Hm™ 1,626 |f@Hm™H 2492 |fHFTH 1,147 | REEBXER 2,206
47 F0Fru 8,790 |FnFruThH 1,790 |5 2232 [lET™ 1,727 |JII&tH 1,345 |BiET™ 1,618 |&F&H™ 2448 | BHF™ 1,143 | ST 2,196
48|12 ™ 8,675 |K&Hth 1,789 |#luth 2,222 |f&@[™H 1,718 |f2[mH 1,317 | ABET 1,618 |El&mH 2,404 |\ FOFxLH 1,136 |f2@E&m™ 2,167
49 IR H 8,399 |E:%0th 1,754 |ELutH 2174 |#¥AUTh 1,653 | R¥m 1,282 |&€R™H 1,607 &% 2,380 |&ATH 1,113 |l 2,124
50/ lLE@H 8,368 | #Lth 1,710 [{4£&8wH 2,087 Pl 1,611 |ELm 1,228 |BRF;™H 1,605 &R 2,379 |JKET™H 1,066 |JKET 1,986
51 B 8,308 |faFHm 1,689 [lLATH 1,892 | 1,602 |S%0H 1,168 | =S40t 1,471 |#XHE™™ 2292 |FEETH 1,021 |FHET 1,892
52| &th 7469 LAt 1,669 |f@HTH 1,854 |BRERTH 1,324 |BRERT™H 785 |F0FRILTH 1,435 |BRERTH 2,089 |FEF;Eh 920 |FRE;ETH 1,476




TR
thnEDZ HhoED HmDEEDZD HMOFEDZD

—————————— <& EBBD- |-—<HE: - |——HKE - |———<H;E: -
ESES 2,465 |2[E 2559 |&F 4698 |[2F 6,798
1#@AH 4203 |FxEATH 4397 |FE;E™h 8,042 |FFHmmTh 12,125
2|lLfeTH 4174 |zt 4392 | RiI&T™ 7425 RIGTH 12,028
3 E 3512 |ELuth 3,851 |&LVi=FmH 6,680 |SL\=FmH 10,164
4| BEFETH 3389 | EFH™ 3,843 |HEHANXER 6,437 |HREAXER 8,830
5i& 3,356 & 3,759 |f&fth 6,363 |#&;ETH 8,786
6| K¥Fh 3,300 |#Frimm™ 3532 |HEETH 6,193 |tHIE[ET™H 8,755
1f2B&m™ 3173 | 3342 |FEWH 5791 |FEm 8,417
8| #immh 3,160 |&iRtH 3,186 |#FhiETH 5678 |f&m™h 8,352
9|&LV=FTH 3,122 |f8E™H 3,133 |fEHE[ETH 5556 |FriaTh 8,205
10| BRI AB X &1 3113 |EWLV=FH 3115 |[de At 5411 |;EfATH 8,107
11|&/R™ 2995 |HHH 3063 |BHEM 5,384 |HiIt&™H 7,858
12| F&=EH 2,892 HH{EETH 2984 |#ETH 5264 |ERFFTH 7,607
13 FHFM 2,850 |REHXER 2,926 [;EH¥ATH 5214 | ZEET 7,307
14|15 2,833 |HItE™ 2,902 | KBt 5065 | KBxth 7,238
15| HHEE T 2,757 |FEETH 2,878 |BFFTH 4926 E¥FHmh 6,827
16| 48ETH 2,724 |tEETH 2,852 | K;ETH 4903 |JIliETH 6,684
17| K#E™H 2651 |FEH 2833 |FHEH 4856 | KiZETH 6,652
18| BIHE™ 2,638 | KiZET 2,827 |FH#&RTH 4812 | 6,621
19 KF 2,599 |JIligTh 2,822 |)I|i&tH 4777 |FHET 6,564
20| &% 2543 |JKET™ 2,793 | 4659 lET™ 6,531
21| =&RTH 2,487 |#LiRtH 2,721 [LETH 4600 |EEATH 6,524
22| FEH 2,484 |BR[E™H 2651 |RE¥H 4593 |fHFT™H 6,425
23| B HET 2441 |;E¥ATH 2,615 |RiI#B™TH 4541 |JKET™ 6,413
24| B FFTH 2,369 |HARTH 2,587 |E&fTH 4507 |[dEAINTH 6,400
25| #LIE T 2,301 |EFFTH 2578 |#AUTH 4448 &Mt 6,396
26 ;EHATH 2297 BEET 2487 |EBi&TH 4421 |'Ei&H 6,327
27| B 2267 =Bt 2,467 |HEARTH 4,394 |FH#RTH 6,220
28| =ZR™ 2252 iEth 2,408 [iRth 4311 |\#lum 6,209
2932 2,243 | KBrth 2,396 |JKETH 4205 |BE[ETH 6,047
30| Kprh 2231 ¥Rt 2371 | KHth 4136 |3Rth 5,817
31;Em™ 2,187 |IEBTH 2,276 |R#kAT™H 4032 E=BwW 5,675
32| 2,133 |f@FHtH 2,156 |ERBET™ 4009 FERBET™H 5,666
33| f@HH 2,129 |BEH 2,156 |{EB™ 3,962 |lUFzThH 5,591
34| LUth 2038 |[LET™ 2,156 |Z=RBTH 3958 | K&Hth 5,532
35 B 1,991 #MIth 2,146 | 3,954 ;Eth 5,419
36/ #TITh 1,984 |fAFT™ 2115 |fEE™H 3903 |{&EE™H 5,348
YN=Til 1,910 S 2,104 |;EmH 3809 |fEETH 5,246
38t i 1,905 EREWM 2,093 |UFsH 3,777 |IKETH 5,035
39/luAT™H 1,880 [T 2086 |[LE™H 3672 |[LBET™ 4,963
40 FEARTH 1,879 |REXRT 2,067 |&;Rth 3525 |fKHETH 4,750
AT 1,852 | dt AT 2064 |fEETH 3,383 |BHtHh 4,570
42| RI&™H 1832 {EET™ 1,962 |ELUTH 3,325 |{EETH 4,535
43|f& ™ 1,801 LA 1939 |IKEH 3,303 | #NITH 4,513
44 F0FR LT 1,756 | RI&H 1,880 |EHTH 3177 |EWumh 4,484
45 FRETH 1,752 |#0Frum 1,858 |#AITH 3,156 |&iRth 4,470
46|fEE™T™H 1,716 |f2RmH 1,846 |H&HFEH 3,036 |#LiEth 4,404
47 BRET 1,651 |3RZE|/mh 1,726 |ALIRTH 2950 |H&HF™ 4,375
48| S %ATh 1,639 | K& 1,698 |f@HTh 2,837 | F0FrH 4,129
49|¥a 1,601  |#3umh 1,688 |&%1MH 2823 |f&8HT 3,961
50| B & Th 1,525 {E&m™H 1,613 | F0FrLth 2,695 | St 3,929
51| Kamh 1,521 &% 1,598 [lLA™ 2,600 LOaTh 3,622
52fkE™ 1,463 |E&H 1,547 |SftH 2522 |&Th 3,398

20224 (M4 %) ~20244F (HF16F) Fi5



